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2021

SANSKRIT — HONOURS
Paper : CC-9
(Modern Sanskrit Literature)
Full Marks : 65

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Section - A
(Marks : 35)
Unit - I
(Marks : 05)
1. sEnfaRaty swIfRREw @ o=l 5x1
(a) SfawofigRom]|
(b) uTvSafdHHA|
(c) BreNggdDTaTYd:|
Unit - 11
(Marks : 30)
2. FNfARET): FRIRRSY IR ARPAANIT ITAFRIIT o <3| 10x1

(a) AMYFHHEEFIAIRA YSHERGIHeIgaaEas fariam|
(b) IMIFIFEEHTEIR &ARIS FEICIRT: Jae TSI

3. IFENfARETY SrerT IR ERpaqINal ITIRRITET 9 HaUv o3| 2x8
(a) HSTF@aesvRITT: 71q: figea M fogar|

(b) TRATRYT HRAT TRV SNAHABITeHHTRIT: T I ? I AT IATBH TheT TR AW
foeam|

(c) SRTHRURH: SR STHfafreg foaam|
(d) T T=RT Fd SRMAGIURM] ASI-IMPIRAYIDR a2
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(e) SSRTIUISHR SHeeH S=ifafded foaam|

() TE T=RG Fdl HSHTIUGH: Af-SThaf QREHRUT qf¥d:?

() F. B. RSO HISTSIA T BRI ASHTIAUSH: JREhd:?

(h) “@riRrenfa” “Rurn” AR Tergae @l :?

(i) shergRag-SaaR-Aeeae #1g: figea T freram|

() HNTSIAI-NTIR-TBICTR T H ARATH HRAT IR a2 T STHIRRIY S|
(k) SRTSRQa-STaaR-ABIGd AT T=Iga T4 foeam|

4. IfaRady Fwaf o a1 SRl 4x1
(a) PIORIN-TITS:|
(b) IRTPARVETER :|
(c) Trsfeagyl
Section - B
(Marks : 30)
Unit - 1
(Marks : 10)
5. ANfRET): FRITIP IR ARPAATIT IIIFRIAET I 3| 10x1
(a) RERCIASI-THEE ORI JMATaN Ie= YRATY  Ja-Roa  vfasEn: R
7 quis a9 |

(b) UTSHTATIARA: $d: ARTHETAN ARG IS ATfaard: Jaw: faR=aam|

Unit - IT
(Marks : 10)
6. sENforRaaa: Fafidew ST ol 10x1
(a) ‘A &y 3 Arcawdr wfafafed: TRaatwr Mdreeasent gt AcaerRer were: wereaad|
(b) UfSTTCIFFae=a RigvaRagIueaaR IaARId! T
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Unit - IV
(Marks : 10)
7. SRl FRFIH IS ARPAINIT IR I Gudg Al SRl 7x1
(a) Rra: RamedeT: waisf ¥+
HIHERIRAN A fARwaR:|
THAHTRARNY ARARS:
¥ 91 war wag fagfdfas:l
(b) Rrarfad R¥ifaeRITwTg®
IERIERI UGN IEEH
e 3 Fraawgafang
S 741 eRfawd =gdgadqll
8. (a) PG RAUEATR U™ G foeran| 2x1
() IAEIEHTT: 7(a) T
(i) TRIfRRREgHH 7(b) 9=l
(b) FRRITHE Jauii: ot 1x1
(i) e 7(b) w=A|
(i) =Tdrge 7(b) T




